Name of the Trade - Turner - 4™ Semester NSQF - Module 1 - Introduction to CNC

# Question OPTA OPTB OPTC OPTD Question OPT A OPT B OPTC OPTD Ans | Level
1{What is the full form of CNC? Computer Number | Centralized Number | Computer Numerical Computer  [TTTH! < YOI 19 B ? PR AR IHS | HgARs AR | PIYR FARDA SR AHA TR | C 1
based Control Condition Control Nomen Clature a@aﬁ@n HISTA c HISTA
system Condition
2|Which year the numerical control of new era spaned 1950 1952 1960 1963 FHRDA Dheld HIudl Il o STed ? 1950 1952 1960 1963 B 1
automation?
3[Which century, the fixed automatic mechanism 18th Century 19th Century 17th Century In middle of 19th |[3fCTHICH HebieTH HIUIA] J[dhbId qe EIG] 18 T R[dpId 19 1 R[dhId 17 T RdPId 19 T R[dPTAT A 1
introduction? Century HEATd
4|Which year along with CNC systems the commercial 1972 1870 1930 1961 ST Iyl 1. 0991, 919d A9 d IdTeA 1972 1870 1930 1961 D 1
industrial robot was manufactured? aﬁfﬁ'\’? ?
5[In Which country the automatically controlled factory In Japan In Germany In Europe In America  |&F a1 18T fcTHICH ATIUIR] DRET U STHAT BN SMHRDT C 1
was introduced before two centuries? DIUTAT SR ﬁ'ﬁ@ﬁﬁ
6|What is the full form of CAM? Computer Aided | Centralized Advanced Computerized Computerized [&H o TUI A1d H1A PR USS  |HCARWS ASHY | DIICRITS m Al 1
Manufacturing Manufacturing Advance Machine Tool|  Applicable TYhFRIT TG e AR g s
Method
7|What is the full form of CAD? Computerized Computer Aided Centralised Advanced Computer $3 d YUl A1d BT _PIELCRIESS _ PR TSE | UCdARIIS AT |PIAYR HUdlbad | B 1
Advance Designing Data Storage Applicable Data R SHATHT CEIERE STCT X3RS 8Ic
Development Storage
8[In CNC control system means? CNC - Power CNC - Electrical drives CNC - Software CNC - Program [R1.TH. 91 A& Sheld RIKTH WU B ? R T i UlaR el | R g 4t s(jdgnlcbm T T 9 9thcdsi T@[Qf[ It g C 1
control system control organiser Rt Sl F@H
9]How many axes in the CNC lathe machine? Two axes x and z Three axes x,y,z Multi axes more than Vertical and  [N1.T9.91 A=IH A& Toodt TR 3Tdrd ? aF ARG xd z A AR xy z GEERISES IU g 31ed A 1
three Horizontal
10{What do you mean by ATC preparation of part Alternate Tool Automatic Tool Automatic Tool Axillary Tool  [HL.TA. 3T URAERT A& ATC UTC URITH 3fcdMc g dex | 3icIHIcH gdd ok | 3icIHIcH gd dibT |SfRiasR] gd did| B 1
programming axis convention in CNC Machines? Centre Changer Checking Checking G@HWW 3 oY 311% ?
11[How the minimum three axes are named in CNC Axes of X,Y,and Z | Axesof ABandC Axes of P,Qand R | Axes of I,J and K [Jeldl Uehl J1.TA.Hl HIRMFT Y BHIUId ? AFRIXYTZ JIFRIABTC AF™IP QAR R 1 IJdK A 1
machines?
12|What do you mean by HMC axis convention of CNC | Horizontal Marking | Horizontal Machining | Horizontal Measuring Horizontal P 3P II.TH. 1 AR 7 T.TH. 91 sﬂesﬁ«:g b 6Ti€§4vtg1 swi{éfcq AR sﬂishcq IR B 1
machines? Centre Centre Centre Machining =1 31 1 2 X qRIRIeR T Hl
Contour
13|Which one of the direction shown by thumb finger in | Direction of spindle Direction of X axis Direction of Y axis | Direction of Z axis [3%aA1 BTIdT 3TSUM TdgUegdid HIvNdl ENIERLCIE] X TR df 13X Y TRy o foam Z TR ot ia” B 1
right hand coordinate system? rotation <= gRifad




14|What do you mean by coordinate system? The coordinate It is only the direction |The cutting tool has to | The work table |1 3{TSIFc UwGd Wgurel BT H fog=an had RUsd DI A TSAT | Job <9 180
system is a two of spindle rotation move in longitudinal has to move TISTHY UrS! o= f%rTquToﬁ e
dimensional number direction radial for 180 Plafifee Tgd
line degrees
15|Which axis in the graph indicates vertical line? Origin line X axis Z axis Y axis PTGl RN AT d_ie IHT Y GRITdd 3 N X TR Z TR Y TR
16|Which axis in the graph indicates the horizontal line ?| 15 and 2™ quadrant Z axis Y axis X axis DHITAl SR T Rl 3TSdl ¥ aRiidd 19923 TR0 z Uiy AUESE X TiRTd
17|What involves to produce component on Involves more More production rate | Less manual work | Computer takes [H-RMd AR HIHIHC TR BT A4l HTH SR SR IdTGT &3 Al BHBH | VD] hlosell
conventional lathe? manual work care W Yot BIvTT yafa ang 3e
18|What is the meanings of open loop and closed loop? | These both are These both are two Data collecting Data storage |30 b d IKilel b B UISl BT 3 g STel | T T 9l ARFEY | STe UhA Medl [ STeT Ao quarardid
programmable data types of control systems system eI dR |are @aﬁ@nﬁ Uad gead
systems in CNC JhR
machines
19|How the CNC machines are generally grouped? 2 Axis only 3 Axis only Multi axis only 2 axis, 3 axis and |91.T9. 91 ARM U fbdl 3-AdTd 2 3R Bhad 3 3R Bhad el RN had | 2 R 3 (T
Multi axis STIOT Hedt Sferite
20|How the programmed spindle speed may modified in | Increments of 15% | Increments of 10% Increments of 5% Increments of [URITH A& RUSA RUS {hdl cRIMI dlgd 15% d dTe 10% I 9T 5% T dTe 100% dI dT@
increments? 100%
21|Which axis the spindle moves on vertical machining Z axis Y axis X axis B axis Flchd HIRMNT YeXar RIS HIordl Z 3R Y RN PEESIT B 3
centres? IR A g g
22|What do you mean by VMC? Virtual Machine Vertical Machining Vertical Measuring Vertical T Tt = g & 2 Glcdhd AIRM dhgld | Flchd ARIT | BlChd AT Hex | Flcdd Holl?
Control Centre Centre Measuring X HIHCR
Counter
23|What is the basis of absolute co-ordinate point? Based on the last Based on the Based on the work  [Based on the tool [®1 3{TSIHC Ulsc DIUd 981 aR DI HRd QgcATUIgeaR | UlgedR SYRIA | (g1 el | g SHgIaR STURId
point entered origine(0,0) end point geometry only SMYRIT U‘I’é?ﬂ? SMYRIA
24|What is the basis of incremental co-ordinate system? | Based on the origin | Based on the tool Based on the last  |Based on the tool [3<PIHCA I MTSHC RICH HIUAT dAE | Hod T9gaR MYURIA [ SIHCIOR STYRIA| VdcHATUlgeaR | g AN 3813l &)
geometry point entered nose radius  |aR &Y B YR SMYRIT
25|How the points are marked in polar co-ordinate Pole as 'O" and Pole as X and axis as | Pole as Z and axis as | Pole as B and [Tk &1 3flei-c R TH T T Uise oy 1?n§1' 31 3o RER gid X HTOT {1 | UTd z 3101 S{ai | Uil B 3107 S
system? polar axis as 'L’ Y C axis as C T & ST, SR TA 3T Y C C

angle




26|Which letter the origin indicates in co-ordinate By letter 'O’ By letter ‘X' By letter 'Y" By letter 'B'  |IUId 3 Tcx T8 S DHISSIHC SAH<II 3 3f&R X 3&R Y 3&R B 3{&R
geometry? IR S,
27|what is 'O’ indicates? The centre axis The origin The reference point | The position of [dcX " O " &M GRIAd T} AR 3RSl PR Ulsc OISl 3T dob
work table CEE
o x ,g
G|
28|What is the X and Y axes values from the following X=6.0;Y=4.0 X=-6.0;Y=4.0 X=-6.0;Y=-4.0 none of these [TTelld AT Uebi x 9 y Tl fbHd BT 3T X=6.0;Y=4.0 X=-6.0:Y+4.0 X=-6.0; Y=-4.0 Y] ATel
graph?
e x¥N7?
g 1
|
2 |
1 ‘ 1 .
o 1 2 3 4 5 6 g
3
29(What is the directional value of X and Y? X in Negative Y in X in Positive Y in X and Y both in X and Y both in  [X 3{TUT Y T SRR %cg P 37T6. Xaol gy 3t | XU aYael | XTYQgidel | XTIV ol e
Positive Negative Negative Positive
X X
x¥)
§
3
30|What are the values of X and Y for first quadrant? Both X and Y in X in Negative Y in X in Positive Y in Both X and Y in [Ulgcdl TROMA X 30T Y i fhad Hra alol X Y 3fieih X aS Y 3fed X 3{i¢h Y Iell Gl XY dul
Positive Positive Negative Negative 3
(X!Y)
X <—‘l—> x
§
g
31[How the co-ordinate system specifies each point In the direction of |In longitudinal direction| In cross sectional A pair of B 3fTSi-c R 9 UdD Uig< HI0 fog=n fe=A 3o farH CARCACIR| AR ACEER
uniquely in a plane by? origin only direction only numerical co-
ordinates
32|How many minimum axis are provided in machining 2 axes 4 axes 3 axes 5 axes HIRMENT e A HHId HHI 1hdl g 2 TR 4 TR 3 TR 5 TRy
centres? ST
33|What is the maximum range of spindle speed? 120% 90% 100% 5% only RUsd RUS 9 [RUS I WRdId SIRd bl 120% 90% 100% 5%
3
34|How much maximum feed range available on CNC | The maximum feed | The maximum feed The maximum feed The maximum [R1.T9.91 ARME T9 [he s SIRdId SIRd SRl SIRd 5% | SIRdId SIRd 75% | STRdId ST 100% | ST id ST 120%
machine? range 5% range 75% range 100% feed range 120% ot &@W
35|How much percentage of feed, system may 5% only 120% 100% only 50% 5% 120% 100% 50%

activates in rapid traverse?

{ivus ceyd Uy Tobdl cad s 1RIeH
e ged




Name of the Trade - Turner - 4" Semester NSQF - Module 2 - CNC Turning

# Question OPTA OPTB OPTC OPTD Question OPT A OPT B OPTC OPTD Ans | Level
1{Which one of the following code is suitable for G02 MO03 G03 MO4 USd Filhasd SRR A G02 MO03 GO03 MO04 B 1
spindle rotation in clock wise direction? fOpRquaTd) Wieie U} ST Bls
CIERGIASIS
2|What do you mean by simulation? Cross checking of [Finding out of work | Finding out of tool | Editing of related |RTFIAR FUS B U ST duiul | g 3ThAC AT [gd SHIe AT [ Hd! | UTE URITH Tise A 1
programmable offset values geometrical values part program ot oy Q?[%I'l?[
DATA
3|What do you mean by MPG? Manual Program Manually Pulse | Manual Procedure | Manually Procure |TH.T0.I 41 31 1 HYG3rd URITH HY3A T/ SRR | Y3 HIRIOR g&m BISES] B 1
Graphics Generator to Calculate the Digital Graphics e B C e
Geometrical Values %Y
4[The CNC key boards have with following keys? Alphabetic control | Alphanumerical CNC codes Numerical Data |@Tqild Ul JITAH! STSaR DUl b SAPTSICd deld [d| &MIﬂHviiwvcrl\ A Pl |[FHARDA SleTs¥S | B 1
keys control keys based keys only TR held f& ENEHIREE & wad
electronic
5|Which one of the following command the G02 code | Linear interpolation Circular Circular Cross sectional |[TTald Ul GO2 HIS HIUTAT HHISHTO! IR ™A TBIDR TSI gl TBIDR dlPhs s B 1
indicates? interpolation interpolation interpolation RIERIRSISI) BERIcRIE)
clockwise direction | counter clockwise foRrera
direction
6]Which code suitable for circular interpolation counter Go1 G02 G03 G04 T Uehl HI0dl dls "gex U= " GO1 G02 GO03 G04 C 1
clockwise direction? IPHIHR gsaresare faRTd gxifaar
7|Which code is suitable for tool nose radius G50 G42 G40 G41 GTeld bl DIV PIS ¢ A9 1S3 G50 G42 G40 G41 B| 1
compensation at right side? HUAYTA R éa rat TRg 3.
8|Which G-code is suitable for data input in mm? G21 G27 G20 G28 SIUIdI G BIS mm HE STel $1Yc 1ol G21 G27 G20 G28 A 1
Iy 31T
9|Which one of the following M-code is suitable for M09 M11 M10 M13 Greid Gl BTV M DTS ISP dIg HIUN M09 M11 M10 M13 B| 1
chuck close? g GTI%
10{Which one of the following M-code is suitable for M10 M11 M09 MO8 PA< JU o HRUGY BVl M Hls A M10 M11 M09 MO8 D 1
coolant pump ON? IR,
11|Which one of the code is used to rewind the M38 M30 M39 M40 TR RIS BHRUN DIUIdl IS aruRdld M38 M30 M39 M40 B 1
program?
12|Which code is suitable for multiple turning cycle in G71 G92 G96 G94 FANUC RT3 Seld R A BIurd] G71 G92 G96 G94 A 1
FANUC CNC control system? RIS T TSt T \?vﬂ%
13|Which G-code is suitable for thread cutting? G30 G32 G34 Go1 IS DHC T FI31 BV G Dis AY 3Tg. G30 G32 G34 Go1 B 1
14|Which mode is used to edit the program? Jog mode Edit mode MDI mode Auto mode SIS ufsc Als TS 3™ HIS 3fcl Alg B 1

ORI TrSc HhRuS] HIudl Hig o iR




15|Which mode is used to move the turret in micron Auto mode Jog mode MDI mode Incremental jog [ARIhI diogd A ccdl gIAdUTTIR] 3fcl Ars SIRT Al TSI AR [SishH-Icd Wl His
level? mode DI HISDT aT0R BT

16|Which mode is used for moving the turret in X and Z Jog mode Edit mode Auto mode MDI mode c¥cdl X d Z TaRF gIaugrId] phIurd ST Al Ulsc Als 3{cl Ars THIS 3 Ale
direction? TS JTOReT SiTal

17{In Which mode we can input the program command Auto mode Jog mode MDI mode Edit mode g14C HHIS BIdM GUIRITA! HIvdl Al 3fcl Alg ST HIS TS 3™ HIS ufsc Als
manually? CISRGIRSIGI

18|Which mode the program will be executed Jog mode Auto mode Edit mode Manual mode  |UTITH A Jdd Ul Sl TR G-I il ST HIS 3fci Als NEEESS] HY3Hd Al
continuously one block after another block? BIUATATE! I HIS aTaRTan

19{How many ways CNC machine tool systems can be 2 3 4 5 R.g. 91 |ike %imé‘ll-l  Tobdl UbR 2 3 4 5
classified? FHRO HRal TS, Xhd

20[Why in CNC machine tool, the part program entered | Can be used only |Can be used again |Can be used again Cannot say 1 T 91 ARM gd A8 §-idaen e TPherd AR Id | URd URd aTIRd1 dd | IRd AR dd WRg | NI Id ATe!
in edit mode is stored into the computer memory? once and again but it has to be s HYX T 9 &1 STl STl ATd dec] Hhav

modified every time

21|Which is the advantage of CNC machine over High cutting speed | Feed back control High feed Mass production [T T I AR T 3T HIUdT BRIG] B BT WIS g g dheld g s EISEIEESE
conventional machines? 318 Sl aRE A A6t

22|Which is the operation in point to point system used? Drilling Parting Grooving Facing Tlg— ¢ Ulsc RRCH e BHIUd HTRTH TS CIGE Yl T R

91 9TOR bl Sl

23|Which of the following feed back devices can sense Resolver Tachometer Encoder Motor 3] IVl (s dP [Ssped 3B ol WIS ESINE ChIHICY TAHIS ACR
both speed and position? g ORI I % IHd

24|Encodor is used in CNC machine tool to sense and Spindle speed Spindle position Table position Work position [ TF ¥l HIRM A ThDISIdT SUART BESRE ESEIEEE EEREISEER) EEBSEE
control? PO Y g deid Cal]

25|Which axis is parallel to Z - axis? X - axis Spindle axis Tool axis Y-axis Z SR A1 HIvrel i TR 3Tdl T Sy S ENEEERIR] RESERI] arg

26|Which of the following is not advantage of CNC Higher flexibility | Improved quality |Reduced scrap rate| Improved strength |[TTciid Ui I8 T Il HIRF< B1AGT ATel SESISEIEEE] 3ffeIeh Tora HHId HHI U | YR dledi didba
machine? of the components

27|What is the use of CNC code of M05 to develop the The spindle The cutting tool | Tool returns from Rewind the MO5 BT 1S o1 DRI dTuRdId RUSH YTGIAUadTSt | Dell gd ool T db Tiell URd TITTH WRd
command? rotation has to stop | has to be changed | reference point to |program once again CRIRIE] YU

work place

28[Which M code is used to activate coolant pump in MO1 MO06 MO8 M09 Paic UU FIe PRUMNY DIl bl aTuRdld MO1 MO06 MO8 M09
CNC machine?

29|Which one of the following code used to switch off MO7 MO8 M09 M30 Paic UU Rad 31T HUNY DIl HlS MO7 MO8 M09 M30
the coolant pump? quRdrd

30|{What is the use of Goo activates the command? Linear interpolation | Rapid traverse | Tool returns from Return to GO0 HHIS d IR H 38 IRD Nd ORd WIS T [hed [IWg Ulgedal ¢ | B4 Ulgedl

reference point reference point EIGLSIEIG AT YU BRI |




31|What is the activity of code M0O6 based on FANUC  |End of the program | Spindle rotation in | The cutting tool Switch of the  [FANUC TRITE! Seld RIEH A M06  [UTITH g HRUIHTS! | SIS ITAT [d3 s Hici gd HAc yU dg
CNC control system? with rewind counter clockwise | has to be changed coolant pump CISRGIG] o= oot HROGITST
direction
32|What is the purpose of G28 code based on FANUC | Tool has return to | Tool has to return Circular Circular FANUC RT3l Sheld RIEH A9 G28 Td IRd W@ T XHRl ISy dre [eRH | USgresdraA [d9tg
CNC control system? reference point from reference interpolation interpolation CISEGIG] STUTOTST YS! firuarardt
point clockwise counter clockwise
33|Which mode, the cutting tool returns back to its home | Automatic mode MDI mode Jog mode Reference mode [®IUTAT HISHH DHIcT cd ATHT 3{cHIcH Als THIS 3 Al SN HIS TG AlS
position? HD o TR IRd
34|What is the purpose of MDI mode? For program Move the axes by | Cross checking of Editing of MDI TTS 91 3eR B 3T U TRITRRIA | Hg3fell i Yh R dPb UIUHEd Slcl Uisc
execution manually the program programmable Data AU UGS
graphically
35|What is the full form of MDI? Mechanical Data |Manually Data Input| Moderated Data Mounting of MDI T JUl =0 &1 Hp b d slc HY3Ml 81el 31Yc | ATSRes SIel $94¢C | AR ST
Implantation input Diagonal Impact T
36|Which command activates in automatic mode? Work offset Tool changes Program executed | Program simulation |3fcTHI¢® HIS HY Il HHIS I gid do 3fhdc 3[cIHcHh ¢ daaul|  UTUTH <o bRl URITH TR
settings are taken automatically Jepru
37|Which one of the following is possible in edit mode? | Can read only the | Simulation of the Execute the Preparation of new [Jeld Ul TUlSC HIS W HIUd B A | had WHUH AUl | URIH=T AT gl URIA 9T 60l o UH dOR
program program program programmable g P! fpar gumH
Data and AR & PRI
correction /
Alteration of an
earlier program
38|Which mode is used while loading / unloading the Simulation mode | Automatic mode Jog mode Edit mode I, T, II. 7RI 7 S Alls1 9 3 R A 3fcHIcH HIS SN HIS ulsc Hls
work piece in CNC machine? ST HRUTTAIST Treid U1 HIorar HiS
qroRdId
39(Which mode execute thet program continuosly one Jog mode Edit mode MPG mode Auto mode Tdd UP] sdlb "k G-I slb 3T ST AlS ufsc His THyS ArS 3l Als
block after another block? T =1el [AUarIdl Ivrdn | aruRdrd
40[Which mode is used for five positioning (Micron level) Auto mode Incremental Jog MDI mode Edit mode EEE R ERECEE G REIRGEIN 3fcl Alg A< S Alg | THIS3IT Al Tfsc Als
of the axis movement? mode FHRUGMTS] HIOTT AT ATIRATd
41|How the complex cutting motion involving X,Y and Z | Use of jigs, cams, | Skill of machine Combinations of |Based on electrical [T T Il AR A 3[dUS HICH HIAMT | ST, DHH, SHC HIRME 3Oeed w A=A [dggd
moments is carried out by CNC machining? templates and operator co-ordinates power supply of  |X,Y,Z = gTerarTd BN Bl S 3for aﬂﬁﬂ I9g T PI- PRARTR SMYRIT
tracers obtained from the machine D 3HRf&cH IR
drives along the
axis
42|How the part programming mistakes can be avoided? | NC (Numerical CNC (Computer | Both NC and CNC |Cannot be avoided [UTc URTH AL BIUMT-AT Febl BT el T Yl (FHRCPY [T (SR | TTHTH TG | AT I HRE T
control) machine | numerical control) machine in CNC machine |SITq ]IdhdTd Fold ) ARM  |[gHRSA dheld ) NG| T qehd ATg!
only machine only AR
43|A CNC machine tool has a continuous part control 2C, L 3L,2C 5C 2L,2C RISEEEEREEESESFALESE 2C, L 3L.2C 5C 2L, 2C
both linear and circular along x,y,z and control of ey F@E Eﬁ?{ g e SEAX T Z
table rotation about x axis and z axis, so the machine SRR g fohval wgﬁaﬁaﬁm
should be called? Urdid
44|Which one of the following code is suitable for rapid G00 G02 G03 G04 POl BIS AUS gy GRIad] G00 G02 G03 G04

traverse?




45|Which one of the following code is used for tool nose G40 G41 G42 G32 WTelld Yopl BHIUIAT Bl ¢ TSl U= G40 G41 G42 G32
compansation at left side? A% A3t AR
46|Which one of the following M-code is suitable for MO5 Mo3 MO6 MO04 Grefd Gl DIV M DTS RS [CRM MO5 MO3 MO6 Mo4
spindle rotation stop? Yi§quaryg Trg Grl'l%'
47|What is the indication of 'M'? Machine zero point| Work piece zero Tool zero point | Machine reference |M Symbol 1 &I 3 gidl. ARM BRI Ulge | do U9 BRI Uis< FRAEREIER TRM I Ulg<
point point
A
|
3
48|What is the indication of 'M'? Machine zero point| Work piece zero Tool zero point | Machine reference |M T3 3 ST 33 ARM BRI Olse | do U9 BRI dis< FRIEREIEE HIRME I Ul
point point
=
g
3
E
49|Which point in any CNC machine the position Work zero Tool geometrical Machine zero Reference mode | T I HIXM aR YRl U LA EN] Td WHIcHhd Ulge AR BRI TP HIS
measuring systems has a starting point to each axis? value AISHTITTS! HIoTd Eﬂév_c’ TTORET ST,
50|What is the formula for calculating metal removal DN _ V.S.A cm¥mm V.1000 _ V.S cm¥min  |Hed R;I_:%ﬂ IC PIGUIIS] pod gA DN _ V.S.A cm3/mm viooo V.Scm3/min
rate (V)? m/min 5 'ev/min qToRd m/min D
1000 m 1000
51|Which one of the following CNC control systems are Siemens and Adobe reader and Excel and MS MS office only | ¥ T I AIRM A& SI0Idl 1’ TF 9l R 308 B | 3iSld ?SQV&FUS' TR 3708 YHTH TH T g
used on CNC machines? FANUC Microsoft power point Eb_@ﬁ AIORT STl ARIh GG e grar trré‘c'
52|Which one of the program block may suitable to G00x42.0z0.0F [G02x42.0z0.0F [G01x42.0z0.0F [G03x42.0z0.0 F [&IcT g x TIRTd 42.09 z TR 0.0 d G00x42.0z00F | G02x42.0z00F | GO1x420z00F | G03x42.0z0.0F
move the cutting tool X' axis 42.0 'z' axis 0.0 with the 0.1; 0.1; 0.1; 0.1; 0.1mm et 0.1; 0.1; 0.1, 0.1,
feed of 0.1 mm? DI Al ARG 3
53|What is the indication of 'x' axis in CNC lathe The radius of the | The length of the | The diameter of | Centre axis of the [[¥ T Il AIRM AL X 3T B GRI1Ad EIEEIEE] EIEEINIE RICEIEIE EIEEIEEIEH
machine? component component the component component
54|What is the indication of 'z’ axis in CNC lathe The length of the | The centre axis of | The radius of the | The diameter of [ TH I AR AH 7 IR S <RIdd KICEISIE EIEEIEZIEH KIEEEST Siee A

machine?

component

the component

component

the component




Name of the Trade - Turner - 4" Semester NSQF - Module 3 - Tool setting and Data input

)X/\;‘

TUN43L2Q13

# Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans | Level
1|Which property of cutting tool has ability to withstand Toughness Hardness Brittleness Softness DI g AT DIV TOYHITIR Al AR THY glo- ECSEE Jihed A 1
various cutting forces during machining? FHAAT IS HicT e g H& Abd
2|What is 'G' in ISO standard for specifying tool insert Geometrical Relief angle Shape of the Tolerance T s4C d Ul HRAMI, C N M G 120408 HifHTdP aIRIY Il 31T ¢ dT 3THR cIaR~ A 1
CNMG120408? features insert e 1SO TR G A1 31 B
3|What is the property has the ability to retain hardness Toughness Hardness Softness Brittleness 3AYS HTHTAT RYHE DHIUTT UIHHS Y HERL githcY EESRRE] B 1
under severe working conditions? TS WRd fHaadr I
4|Which type of tool material is non metal? High speed steel Carbon steel Stellites Ceramics Welld Uehl BHIUId gl 31T 3T T WIS Eid CAEREEN] TdRe R C 1
5|What is the name of a non-ferrous alloy compared of Stellities Ceramics Carbides High speed steel [&IciT ga ATl dldlee, shHIH 9 TIRe ol Tdlsc RRTFh CAEES g Read | A 1
cobalt chromium and tungston used in cutting tool? qﬂfq'%;gl Gl?ﬁ%}}?ﬂﬁw
RS
6|What is 'T" in ISO standard for specifying tool insert Diamond shaped | Triangular shaped | Square shaped Rectangular  [¢d S3cC d Q¥IIbRUI HRAFT, TNMG12048 SHS 3HHR PIpIol 3MhR bl PR | APl HR | B 1
TNMG12048? shaped AL 1SO TUR T =1 31 B
7|What is the clearance angle for boring bar tool used in Around 5° Around 7° Around 8° Around 9° ¥ T 9 AR T SISRT IR gof o1 5 7 8 9 B 1
CNC machine? faer=4 3ivTet forcht Srerr
8|What is the formula used to estimate CNC tool life? V({®n=C VI(T)n=C Vxt=C t(V)n=C Tl T 1 =1 A o =Y HIeUdN hlvid I V({Hn=C VI(T)n=C Vxt=C t(V\)n=C A 1
CILRGIG]
9|What is 'C' in the I1SO designation of lathe tool holder? Insert clamping Insert shape Insert shape Insert cutting | 31T TH 311 ALY <Y ¢ glcs AT ER e EENEEEEEEIEDN SHCAT DR | FHC A BlcT | C 1
method edge length Colg Uad SEIRSIE
10|What is the 'M" in the 1SO designation for lathe tool Holder length Shank length Shank width Holder style |30 TH 31 ALY oY T BlceR AT glcsdl aisl RICESTISIE]] i dl al glegRdl Xed | A 1
holders? M ST
11{What is 'P" in the 1SO designation for lathe tool holders? Insert shape Insert clamping Holder style Insert cutting |3 T 31 AL Y T glegx Al ZC dl 3R ESSPCREICIED gicedl Wisd ¢ Al EF??’T B 1
method edge length  |[aiffaruTgaR PRI % ugd TSl o et
12|What is 'C' in the ISO designation for lathe tool holders? | Holder length Shank length Hand of holder Holder style |30 TH 31 ALY oY T BlceR A glcsdl aisl RIEEEISIE]] TS 3 gleeR glcedi s | D 1
Col
13|What is the angle marked as 'x'? Cutting angle Approach angle Trailing angle Side rake X HTeb hoid 3T HIUdT 33 HIcT 3T 3Uld 3T calsT 3T RS 3P B 2




14|What is the name of part marked as 'x'? Flange Adaptor Shank Reetion knor  [X AT ®dcdl HNTE d Ad &I 318 NN 38U Mb ReR
1] X
x
15[Which offset has to be taken to make the tool to move Work offset Geometrical offset Wear offset Tool offset [l T |l HIXA HE BT SHHC Dbl Sl b AT SIRIREAS 3R AThC T AThdC
with reference to the job in CNC machine? S XY Ylgcdl Sid Hdidd 11% EING]
16|What is 'S' in the 1SO designation of CNC lathe boring Steel shank Steel shank with Steel shank with | Steel shank with [S32USKKCR12 TT &l TA. Il. TY IR IR cd =P Red =M 19y RENRIEIRE I RN [9Y
bar S32USKKCR12? coolant hole anti vibration | coolant hole and =TSO s =1 31f g paceld | AR e Bla 3T
system antivibration 3ict SfctgIaRH
system dtm
17|What is 'C' in the IsoO designation of CNC lathe boring | Shank diameter - | Tool length - 350 mm | Tool length - 250 | Shank diameter - [S32USKKCR12 TT &l. TF. Al. WY SIRT IR | =77h 91 AN 350 MM [ garal affell 350 MM | gardl afsi 250 MM | b T AT 250
bar S32USKKCR12? 350 mm mm 250 mm T 1SO car i MM
18|What is 'C' in I1SO standard for specifying tool insert - Relief angle Shape of the insert Tolerance Geometrical T S4C d IR0l HRAMET, CN M G eIt 3T ESEEIEIEDR IR SHClhd [theR
CNMG120408? features 120408 TMAH 1SO TIR C 1 31 BT
19|What is the 'M' in the 1SO standard for specifying tool Relief angle Shape of the insert Tolerance Geometrical ~ [CNMG120408 ¢d 3¢ d dUI[RUT HRAHI, C eIt 3T ESEEIEIER IR SMHClhd [theR
insert for example CNMG12048? features N M G 120408 JrEE ISO TIR M=T 3 Fra
20|What is 'N' in ISO standard for specifying tool insert for Relief angle Shape of the insert Tolerance Geometrical  [CNMG120408 ¢c1 S3¢ d QTIIhRUI BAMT, C Reflte 3T ST 1 3PR cIeR—Y SMHcIhd (e
example CNMG120408? features N M G 120408 TTHEY 1SO TIR N =1 31 B




Name of the Trade - Turner - 4" Semester NSQF - Module 4 - Programme and Simulation

# Question OPTA OPT B OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
1|What is the purpose of turret head on CNC lathe | It holds the work pieces | It holds the cutting It supports for lengthy | It guides to the [T TF I AIRM A& < 38 S0 BIEEEEERIG ®ict gd SICEER IS DT HRAMI B 1
machine? tools work pieces work piece while BN UHSUIMTS! STYRTTST NIENIRIUERIG!
thread cutting CRLIRSIE]
2|Which one of the following code is suitable for G 17 G 18 G21 G75 Qcilcd Yebl BTN bl JoolT STURR G 17 G 18 G21 G75 D 1
grooving operation? Jrat AR ST
3[In the part program GO1 commond stands for? Rapid traverse Return to Circular interpolation | Linear interpolation [TFITH A GO1 1§ $HIS DRI dTURdTd IUS T YT g WP UIgC | URAR SCRUICRM | TelIR SRURIRHE | D 1
reference point clockwise direction W’&‘HW
4|What do you mean by M03S600 in the part The spindle has to The spindle has to | The spindle hasto | The spindle has to [URITH A& M03S600 dT 314 H1 e d 600 RPM RYSd R0 600 |TUSH USII@dTAT | RUSA 600 g A 2
program? rotate is clockwise stop rotation for rotate is counter run for the period gegrara farH faoe farvm fa
direction with 600 rpm 600 seconds of clock wise direction | of 600 seconds of fihea fopruarTat
time time
5|What will be displayed on the screen which Entire part program Graph of the Work off setting | All tool geometrical [RTHITRM BRI [¥hd dR B ST Ul gTe URITH YT 3T BEEEIREIEES g4 A& B 2
simulation? component details values HAId GITﬁEW ot
6|What is the purpose of G17 in axis selection? Input values are in mm | Input values are in Rapid traverse The cutting tool  [TIRTH MISATI G17 ATURUATAT 3&R B | HeT [hH TATH | RN [hHd qTITd =Teul [SEIEEEIER D 2
inches has to travel in ‘X' BRI RNy SR
axis and 'y' axis T B!
7|What is the purpose of the code R in grooving Relieving the tool Groove diameter | Incremental depth of [Width of the groove |G 75 TT T[Id7 WIS AL R BT HIS T dTeR PIGUANITS! 94 91 ™ FTpIaCd ST qa = al Al 2
cycle G75? cut HRMIST ATRATd 3 dHC
8|What is 'x' in the syntax of G75 grooving Incremental depth of cut | Groove diameter | Width of the groove | Tool return value [G75X_Z_P_Q_F 3T TJid7 A AL X Z IR R PEEIE I PEEIRT <A IRd JugreEl | B 2
command G75X-Z-P-Q-F-;? in 'z’ axis amount P 3] IHAMCT S 3T frma
wC
9|What do you mean by in the grooving operation | The value of tool return | Groove diameter | Groove length (mm) | Incremental depth [TJidT Tr-Ih G/5X_Z P QF R IGIGIE]] Jd T AN A A MM AR [ X RN R C 2
cycle G75X - Z-P-Q-F-;? amount of cut in 'x' axis J%m@rm frra W\ﬁ'c!ﬁ@w
AP hc
10|What indicates by P in the part program of Groove diameter Tool return value [ Incremental depth of | Incremental depth [G75 X_Z_ P_Q_F 31 Tid¥l AR d HA P PEEIE T FREIGRECIGIGIE] Z AT R X RN R D 2
grooving operation in G75X - Z-P-Q-F-;? cut in 'z' axis of cutin'x axis |T1 P A BT I fua Wﬁ?ﬁ Y Wﬁ?ﬁ I
Hh hc Hp DT




11|What purpose the code of Q is used for the For incremental depth of | For width of the | For groove diameter | For feed value [G75X_Z_P_Q_F I [d7 AIDhd HH ARESINENN 7d gt %al PEEICE s =1 T
grooving cycle in G75X - Z-P-Q-F-;? cut an 'Z' axis groove Qar Sk IHHMC S 3
wc
12|What command activated by the code of F in the |Value of groove diameter| The value of tool | The value for groove | Feed for groove [G75X Z_P_Q F AT Y%A A | Yd =1 A=l [bHd R JuIrTS I | Yd AT Taldl [bHd | g HRUTT AT 1
grooving cycle in G75X - Z-P-Q-F-;? return allowance width cutting FOT HIs 4 B 8l A3 firs
13|Which code is suitable for drilling operation from G74 G76 G71 G70 GTelldl HIS U] DI0II Dl [Sali G74 G76 G71 G70
the following? SRR Tt I 3118
14|What do you mean by the code of R in drilling Feed value for drill Retract value  |Incremental drill depth| Total depth of drill [G74 R T TSIl TRRM =1 pls AU R | FSa™mdl fhs =i fbHd (AN IRBUAT! foHd | SishiHed Hed gid | Tgd gid ©f Tl
operation in the format G74R-;? hole aﬁgl%'UT@[W =t @reft Qreft
15|Which command, the code of z used in drilling Drill relief depth / Return | Feed value for  [Incremental drill depth| Depth of hole  |G74 Z_Q_F AT TSIciT 3{TURRM =T hls TS AR TRBUATL SIPIHACH S [SIpIHCd U I | 19 Bidt ol el
operation in the format G74Z-Q-F-;? amount incremental depth g Z ®Is 1gU % Eapl fpad 3 He T3] Bis EIREIN
of dril o fobrr
16|What command indicates by the code of Q on Depth of cut per rays in | Total drill depth of Relief depth Total feed value [G74Z_Q_F T TSIeRT I®Hd =T HlS AR A S 3T | Tod gid ol UpUl el s TPHUI i df fbHd
the part program of drilling cycle format G74Z-Q- microns hole o Q HHIS hI hc Qrett
F-;?
17|What is F in the drilling cycle format G74Z-Q-F-;? | Total depth of drill hole | Incremental depth Feed rate Drill relief depth  [G74Z_Q_F ATTSIel I%d AT dls | fgd gid dl UHUl Wiail |3lshiHed A gid s e fsa Rl S
of drill T F HHS B EIRCIN|
18|Which one of the following code is used for G76 G70 G90 G75 "Teiid Uch] BIUIT dbls - T Tl AR G76 G70 G90 G75
thread cutting on CNC lathe? IS HITTS! IR
19|What do you mean by 'x' in the part program of Thread angle Minor diameter of | Length of the thread |Thread crest radius [G76 X_Z_P_Q F 1 9€ dicTal DS PO PEEINGEREIR PEEIRIT] s Tohee i B
thread cutting command block G76X-Z-P-Q-F-;? the thread value g X &4
20|What do you understand, if the code of P in the Root diameter Height of the thread| Length of the thread | Depth to be taken [G76 X Z P _Q F AT Y8 Hici=AT HHIS ¥C SAHKR DEEIRREI] PEEINIE] Uigedl dedl Jldl
part program of thread cutting block G76X-Z-P-Q- on the component for 1st cut T P U BT A&MTd Ad
F-;?
21|What is 'z' in the part program of thread cutting Diameter of the thread Number of Thread length Total lead value [G76 X_Z_P_Q_F TT IS HIcTAT HHIS PEEIESI] ST RO PEEIRIT] dledl fhad
block G76X-Z-P-Q-F-;? finishing cuts to be g ze™ fipffRin e =it
taken R3Re2l
22|What is the purpose of this code Q in the part Minor diameter value Thread length Height of the thread | Minimum depth of [{G76 X_Z_P_Q _F AT Y8 HIcITAT HhHIS | WgMH ANMEI [bHd PEETNSIE] PEEIREI Hcdl dgHId a8
program of thread cutting block G76X-Z-P-Q-F-;? cut E2133] Qdl B%Q Eapl Qrat
23|What is 'F' code in the part program block of Feed pitch of the thread Length of the Minor diameter of the |Single depth of cut, [G76 X_Z_P_Q_F IT 98 HicTl HHIS REEIICE] PEEINIE Sl g AN IS BT HAAH

thread cutting G76X-Z-P-Q-F-;?

thread on the
component

thread

at the time of
thread cutting

7l F a1 3 B




Name of the Trade - Turner - 4" Semester NSQF - Module 5 - CNC turning operations

# Question OPTA OPTB OPTC OPTD Question OPTA OPT B OPTC OPTD Ans | Level
1|What is the full form of TPM? Total Production | Total Productive Tolerance Tolerance TPM =1 Bd BIH BT 318 <l TS oM cled Ulsdcig CIoR-4 URHIISd gIeRY WRACS B 1
Management Maintenance Permissable Method Permitted AT nYs
Management
2|what is the full form of ABF on CNC Automatic Bar Available Basic | Advanced Bilateral | Authorised Bar [ T 9 AR AL ABF I1 Hd BIH B 3icHICH dR ThiaT EERENEIRE SEFTY TR | SIS IR hs | A 1
machine? Feeding Feeding Mechanism Feed Feed Control 3 ool 7 firs W
3|What is the use of bar feeding automation? | To increase the | To controlthe auto | Itincreasesthe | It takes much more [dR TSI S{CTHRM A1 IWIRT S 375 ORME gHiaEE] 3Tl TS = A3 AW | d 3digd dod dledd | A 1
efficiency of the feed mechanism material handling production time qreldugraTat [EUEIIRIE] J& aread
machine time
4|What is the full form of DNC? Dual Number Direct Numerical | Dual Numerical Direct Non DNC T 5d B $1 3Te ST TR PISCHT | ST guimm S TR DI SERGECAM®- | B | 1
Counting Control Coordinates Coordination c 3figfe NI IERE]
5|What is the value of 'x' axis which Value of tap size Zero Negative Positive Qrad Uobl X SN dl Bog TURNT AL ERIEEEIIE RG] iR ERIRES BIRIES B | 1
tappering? P 3R
6|What is the code value of Q2000 if the The total groove The incremental The groove final The incremental  {G75X28.0 Z-45.0 P500 Q2000 F0.08 AT ol TRUT Tlail s'oﬁ‘ll-lcol@'w 3 | Yoo SifdH ™ s-cﬁ‘ll-lcg S 3B | D 2
grooving program block is like this depth is 2000 depth of cut in 'x’ diameter depth of cutin 'z T[T I a T Q2000 dt fhHd w1 2000 P x IR Ael Fe z IR g
G75X28.0 Z-45.0 P500 Q2000 F0.08; in microns axis axis
this program block?
7|Which status the data cannot be output for In jog mode In edit mode In simulation mode | The data output  [ZTciidl Uehl HIUIAT HIS ALY Slel 84 Yc d ST Als /Y uiSc His 7Y R Ale A |3 KeqHed Siel | D | 2
inputting / outputting data? can not be done in [3T&Hcge B4 Xhd ATal 3T&Heyc Hes Tad
an alarm status et
8|How to compensate the pitch error in the The pitch error All the threaded | Thread height value | Minor diameter [0 UR UTC YIUH A J¥ Hal aR [UF TR g TR Td JSSHNTE PSSl A HAA | AR SAHR AT | A 2
part program, if pitch error is enabled? compansation area value to be to be changed value to be HYT TS ST AR ot fbrd | fohaa saaur sfor ot HiRe
amount of value to | changed and input compensated TIH = A THo
be input
9|What is the full form of CAM? Computer Aided Computer Computer Attached Computer CAM Bd BH BT 35 PR TSS PICR UCHIA | PR IS | PR (Ufcqdhed | A | 2
Manufacturing Application in Monitering system Applicable s?ﬂé——m gitexi Rl
Maintenance Monitering Process
10|What is the purpose of CAM software in Direct Traning and While using CAM, Execution of N T 91 AR T $H AIhcd3Ral I9X TTc YiH RO RICTH! (I TR | PH IR HRTRT | URIH 1 HRUAE0]| B 2
CNC area? manufacturing academics on CNC | there no need of program Eap) JATG BRI PRSI SRRIST HRUGRIT
without part program axes component design TR ATg!




Name of the Trade - Turner - 4" Semester NSQF - Module 6 - Advance Turning

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
1|Where the taper threads are used? Bolt Wood screw Stud Nut TR Y1 STIRT BIS gidl Eie qs T rs c B 1
2|What is 'L in tailstock offset method? Length of the taper | Length of the job Amount taper Length of offset [caRcioh 3{THIC HUSHE L T 31d B rSISIE BICEISIE] CURAl T Hd 3fThdcal aldl B 1
3|What is the purpose of normalizing steel? Remove induced Improve Soften the steel Increase the [Tl ATHARITSNT BRULTHT 6g B TR ATl T RS [T 73 HRuAMEI31 THY A 1

stresses machinability toughness and m qrefavarTat Sfor
reduce brittleness [ECSRRER
PROGTS!
4|Which metal is to be case hardened? High carbon steel | Castiron (heavy | Low carbon steel | Alloy steel parts [@Tild Ucbl SIUICT UTqY &Y BIS B Ble- KId HRE 3T I Pl Red 3feig Red C 1
parts) parts Hdld
5/In Which case hardening process the ammonia gas is Cyaniding Gas nitriding Carburizing Induction hardening [PIUTT &H BTSIT UIchUAE SHIA] ™IS T TS DRI gSHRA TS | B 1
introduced? T AR il
6|What heat treatment process the nitriding comes under? Hardening Case hardening Tempering Normalizing  [ARITCSIT SIurdAl fge TgcHe A BIS &Y gIe CORT EIGRIBIED B 1
YHRME Id
7|Which heat treatment process is used to reduce internal Stabilizing Annealing Normalizing Tempering C1d ¥ HHI HRUGNIS] HIUT [eC SSCNIRIER] ST AR CURAT D 1
stresses of a hardened tool? feeHean IuanT g,
8|Which heat process is increase the toughness and Annealing Normalizing Tempering Case hardening [®IUId T8¢ TccHe HD ¢l dledl d 3T ATHATRITRI CURA EREEEL C 1
decrease the brittleness? ﬁ BIdl
9|Why heat treatment of metal is necessary? To produce certain | To make good To increase To make the metal [ITgdR SWIUAR BIUI &I TR 3T EUIEIUERE ELIESEEIR ; gg drhd TSldReId 9T, TR | A 1
desired properties |appearance on the strength of the rust-proof Il LRI CRIIE]
component metal

10|Which one of the following is the solid carburizing Charcoal Petrol Ammonia Kerosene Tl Udbl HIUId Hldie DIaRMY 19T IRDI ucld ST DHRINT A 1

material? Tefkad aife.

11{What is the process of increasing carbon percentage on Hardening Nitriding Carburizing Tempering A BIEd LIaAT ?gummw CACERE] SR AT DBIARITONT CURT C 1

the surface of low carbon steel? YHTT HIUTH UfohdT Hard

12|What is the preheating temperature of steel? Upto 400°C Upto 500°C Upto 600°C Upto 300°C feerd ToigTeti argdm foeal ey 400°C Td 500°C Td 600°C Udd 300°C Td C 1

13|Which gas is used in nitriding process? Ammonia Helium Carbon dioxide Hydrogen %l;}[gﬂsu Uichd Hed D0l argal U AT SR EaERISEEESES SESER A 1

14|What is the heating temperature in gas nitriding process? | Up 200° Celsius | Up 300° Celsius | Up 400° Celsius | Up 500° Celsius [T AACIST UihAHH IV dTqHA 200°C Ugd 300°C Td 400°C Id 500°C Udd D 1

15|How many fundamental deviations are recommended by 25 24 20 30 d1 31T T YU A Tobdl heHed 25 24 20 30 A 1

BIS?

SR 3ard




16|What is the type of fit for the expression Fit 25H7/p6? Interference fit Clearance fit Trasition fit Running fit 25H7/P6 I Tthe = HIUdl UhR 3] gemY fthe IR e CTSITRI3MA Tthe 3 e
17|What is the hole basis system? Size of shaft is Size of hole is Size of the hole is | Size of both hole [gld] SIRIY RICTH FEUN BT YMpedl grgol RREIKIES] AREIKIES] Il 3101 YMhe
constant constant varied and shaft are varied QWR@ QW'R‘@Q[ FSAURY a%ﬂ?ﬁ ?ﬂéﬁr
18[Which deviation is zero in hole basis system? Lower deviation is | Upper deviation is | Both upper and Both upper and  [g1d] SR RICTH AY BV SIQURM | AR STadRM 1R | 3R SiedRM [9RI [ TR MO AR | 3MER 0T dAleR
Zero Zero lower deviation is | lower deviation is %Iﬁ 3gd @'%W %ﬁr @%H'QF[ EIRED
zero below basic size ?I'IE‘FI'ET&‘H FHHt
19|Which deviation is zero in shfrt basis system? Upper devication is | Lower deviation is | Both upper and Both upper and  [RIT0E 918 RRCHE HIUd SIgURM 0 ISR SR ISRI| TR MU AR | 3R 30T AR
zero zero lower deviation is | lower deviation is |3rTd @'%W %ﬁr @%H'QF[ IR
zero below basic size ?I'IE‘FI'ET&‘H G|
20|What is the representation of zero line in limit and fits? Basic size Actual size Nominal size Tolerance size |[d¥cd d iy A 0 dled HM GRIdd CIEASIEE TR HTgol CICECRIES] CIeR- FTgol
21|Which letter represents basic hole? h H Bh BH J gIeTATA! PIUNd &R SYIANT h H Bh BH
HTOTdTd
22|What is the representation IT in limits and fits? Tolerance Tolerance grade Tolerance unit | Tolerance number [[cHeY @ BIcd AL IT 3&R HRITATS! ISR IR TS IR e IR ek
ERUGGIG]
23|What is the unit of deviation in limits and fits? Millimeter Centimeter Micron Mill micron [eliHcH d hicy AY SR gHc CEIEE Jfefaex Tk ERIEIREG]
DI
24|What does QA and QC stand for? Quality assurance | Quality adjustment | Quality assurance | Quality assurance |[Q A 30T Q C 1 3 ®1™ @il 3G | PIicic! fSoRkcHe | ilelc YR Iicic! 3G
and quenching and quality and quality control | and quenching 308 S Eb_;ﬁﬁ 3fUg piferct v | 3Us Hifaret Eb_;ﬁﬁ 308 S W
control complete control
25|What does AQL stands for? Aquired quality limit| Acceptance quality |Another quality limit| Acceptance quality [AQL 3T 3{¥ &1 PR BIIIc] Y Dileic] | 3R Bllcic! [eliHe| 3fRiuc~ Siicicl
limit level ferfire
26|What is direction of finishing in surface texture? Flaw Lay Waviness Roughness WPY cR TH ThHIRATH! TR HIMd Hdl d diegTd TH-Y
27|Which of the following symbol indicates finest surface? ~ VvV VVVV vV Haldd [hi-=1 B FagM ariddrd ~ VVV VVVV vV
28|Which material is used to make the stylus of mechanical Mild steel High carbon steel | High speed steel Diamond A b d IRPY glehex Al Tad A Wid BRI Bl Red g s Rea SHS
surface indicator? rat v HeRTd araRdrd
29|What is the name of part marked as 'x'? Measuring stylus Skids Indicator scale | Adjustment screw | X 7 GRIfdcel HRTE A9 &1 AR TId Reb s SIShex Thd 3fSolcHE TP

TUN46L1Q29




30[What is the name of part measured as 'x'? Skid Diamond stylus Indicator scale Pick up X Tde AlNldedl HRTH A1d HIg Repe S Wied sleher Thd IPEEE
X
qm[
8
7, 3
5
31|What is the name of part of taly surf marked as 'x'? Stylus Motor race Amplifier Recorder X 7 GRIIdeied] Sl AT HITE A9 EEIND] AR ™ SRR THISY
B 38
3
32|What is the name of part marked as 'x' in lapping Component Groves to return Lapping plate Work surface  [CTURT YRR A X 5 GRIIAAT HITH DHIHIAC e ¢ e oI 7O Wi b IR
process? lapping paste H1d eI U
g
3
33|Which surface is finished by honing? External cylindrical | Internal cylindrical | Both external and Flat surface BT SHTURRF DIUAT GEHTT TRICHd Rdilglopd | 3acd Ridigliad EESEENIEN] Hdlc Wb
surface surface internal surface EIEINUES G Wb WHY A WY
34[How the turning tool is moving in tail strock offset Perpendicularto | Angular to lathe Parallel to lathe Vertical to lathe [ ¥l THAUC Uihdd ¢d & sladid | o o T AR A DAC| A ARG Al Y Y T IHT
method? lathe axis axis axis axis GG PHICH AT HHINR
35|Which one of the following is disadvantage of tailstock | Power feed can be | Good surface External taper | Only external taper [CcReld T HYSHI dicl H TR Thhg Tedll O, | A1Tel TRWbY [hiART | 9181 TR 98 HRdl | Had a1dl TR IS
offset method? given finish can be thread can be can be turned qHd =] I3 IHArd Hdl Idrd
obtained produce
36|Which axis the tool moves in taper turning attachment? Perpendicular to Parallel to lathe Angular to lathe Vertical to lathe  [CTR T 3[CIHC HE ¢ PIU] Y T Tl T SR ol Y AR AT DA | AU SR AT IHT
lathe axis axis axis axis SfeirHe WWE BICHHI THIR
37|Which one of the following is disadvantages of taper Both external and |Power feed can be | Length taper can | Only limited taper [CUR T[T 3T CUR ST DR UATE] 3dicd d Il | TTaR TS Tell BiRS, | <fld TR HRUTRIA! | FAliGd dlell H
turning by attachments? internal tapers can produced be produced angle can be turned dreT ST TR HA1 IS q&Hd TR HRUGMNTS!
be produced Rehdld
Which of the following structures of steel is obtained due Pearlite Cementite Martensite Ferrite gl Ucp] E‘lfﬁﬂ PIUIAN IEHR @Rd US TRdlzC NEFEE ARCAATSC hIsC
to the drastic cooling form the austenite structure? PN SieRe ChI T $UTR
39|Which of the following property of metal is impart by Hardness Toughness Ductility Surface hardness gl cHhd CEEANG Wby gle-Y

annealing?

S{ATCRT Hos UTed HIurel UTHAR
qﬁvnngl




40[Which one of the following heat treatment process Flame hardening | Case hardening Nitriding Induction hardening [T Ui 10K SWIAIUAR WhdHS TIH BIS ERIRSEN AR SSRM SIS
produces a scale free surface on the components? ERVEIRCEESIN Hd 1 gl
41|What is the types of fit for the expression 20H7/g6? Interference fit Clearance fit Trasition fit Force fit 20H7/g6 T1 A Tthe <1 HIUIdT UBR 3T g B [the FASR e IR fthe By fhe
42|What is 7 with expression of fit 30H7/g6? Hole tolerance Shaft tolerance Shaft and hole Shaft and hole  [30H7/g6 3T Tthe A 7 BT 3Tg FAgRA IS | [ RIS | I 30T RMMUT BT 3TI0T R
grade grade tolerance allowance cIeRY" HATSHH
43|What is the type of fit in expression 75 H8/j7? Transition fit Clearance fit Interference fit Force fit 75H8/J7 “T1 A Tthe T HIUIdT UHR 315 2TIIRH fthe FASR e gR B e By fhe
44(Which one of the advantage of mass production? Special purpose |Jigs and fixture are | Gauges are to be Time for A YIS R BRIl di TR UgS JIRMD | ST 3101 {lhderddl | 7ot aTaR Hrral YN IR
machinery are needed used manufacturing of HIRGhdl HIGRIhdT SIEGH HIUMTS! HH I
necessary components is AN
reduced
45|What is the type of fit if minimum size of the shaft is Interference Clearance Trasition Running RMp T dgIHId Al bR Bl glcdl IR B FISR C SR T
larger than maximum size of hole? TSaTd TGl BRI SR SR
1A DI fbe gl
46|What is the type of fit if minimum size of hole is larger Clearance Interferance Transition Force glddl dgMId g 3bR RMbcAl TSR R B FESIEGE] Ear
than maximum size of shaft? AT A3 BRIV ST SR
g HIvTdl e giar
47|calculate maximum clearance of fit Ho|e¢+21I+O Shaftq)'w'zo 0.00 0.007 0.041 0.022 H.ole¢+21/+0 Shaft$-7/-20 grdia 0.00 0.007 0.041 0.022
SIRd dhldd dlel
48|Calculate type of fit ¢ Hole 25"2*% Shaft¢25"2° Clearance fit Transition fit Interference fit Shrink fit Hole $25+21/+0  Shaft $25-7/-20 ISR The 2TIIRM Tthe 3R g fthe RRI Tthe
gmdid fihe o1 YR FiTT
49| Calculate type of Fit Holep 25*%*° Shaftp25*3%+?2 Transition fit Clearance fit Interference fit Running fit Hole¢ 25+35/+0 Shaft¢25+35/+22 TSI Tthe ISR The 3R g fthe 3T The
e fibe o1 YR I
50(What is type of fit75 H8/j6 Hole¢75"*®*° Shaft¢75 12 Transition fit Clearance fit Interference fit Force fit 75 H8/j6 Hole¢75+46/+0 Shaft$75+18/- TSI Tthe FIIR e 3R g The B The
12 g fibe a1 YR FiT
51|What is the roughness value for the symbol V indicate? | 0.2to 0.8 micron | 1.6 to 3.2 micron 25 micron 50 micron g I%B-19 dl fddl fbdd v aRIfdd 0.2t0 0.8 AIIHIA | 1.6 to 3.2 HIIHI 25 HIIshI 50 HIIShI
52|What is the name of the pattern of work surface caused Surface texture Roughness Roughness facing Waviness HICT gl gIararel] 4ob wild gEHETGR IRhY TR Y T BIRA] GICRE
by the movement of cutting tool? aﬁwq?«fatma?ﬁ
53|Which surface grade number indicates the symbol VV? N12 N11 N7 to N9 N4 to N6 VvV © g PIUdl IRy IS SrRafad N12 N11 N7 to N9 N4 to N6
54|Which of the following abrasive is preferred for lapping Silicon carbide | Natural corundum | Aluminium oxide Boron carbide WS ¥Id J 3{ellg o] UTq o1 U] BISCAEKEAEIES TR HresH AT CINEEACIES]
soft steels and non-ferrous metal? PRGNS HIUIT SR TR
55|Which is used to prevent concentration of abrasives on Vehicle Holder Absorber Retainer 0T TRGY A ATbxl SIS daR TSDA glesR 3feleR ReR

lapping surface?

T WUH S IT0RATd




Name of the Trade - Turner - 4" Semester NSQF - Module 7 - Importance of Technical English used in Industry

# Question OPTA OPT B OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Level
1|What is the expansion of CCW? Contrer Clock Wise| Center Clock Counter Clock Center Clock  [CCW 1 %d BIH &1 3(Tg PIHCR HAIP dlsol | U Il Il PISHeX Kl dIgol X FKlh did A 1
Wise Watch Watch
2|What is the expansion of CPU? Central Placed Unit Central Central Planned Unit Central CPU I1 5d ThIH BT 318 YR WS 31 Ycd USIIRMS gie | dod wisis giae | 9<d ™R gHe | D 1
Positioned Unit Processing Unit
3|What is a program in CNC machine? A systematic A systematic A systematic A systematic [N T Il HIRME A UIUH 1UN &I TA Il FARYd 51 | ARM = AYd [l TR SURYd ¢d = C 1
arrangement of arrangement of arrangement of arrangement of XA AR T
tools machine instruction present tools
4|What is the meaning of RPM? Rate Per Minute |Rate Per Machine| Revolution Per | Rate Per Program [R P M @1 d BIH &1 3{Tg ¥ R [AHe ¥C R HIRH R3{TA=A R AiHe ¥C R UM [ 1
Minute
5|Which is the symbol for flatness? o O o A ThelcY JT3] BhIUId g aruRd Sird - O o A B 1
6]Which is the symbol for profile of line? 10/ A o) _ TMhTed 3T g T3] DIV <5 aluRd 10/ A o) - B 1
S
7|What is characteristic indicated by symbol? Concentricity Position Symmetry Roundness  [dIRT¥ GRITAUITHICT SHIUIdT RFETd ardRdid DI RIC PININE R A3 e B 1
8|What geometrical charteristic indicated by symbol ? Runout Circular runout Total runout Partial runout (8T 11 mﬁﬁ%fmaqfﬁ?ﬁ TA3&HC IR XA3MHC Clcd YATKC 3{R[: TASTHC C 1
9|What characteristics geometrical tolerance the Concentricity Symmetry Position Perpendicularity [STHATDG T claR-d o AP BRI aR(Idd DI RIC R BINIRG] RUSIDARIC A 1
symbol indicate? SITdrd
@ 20.08 A
10|Where the turret head in turret lathe is generally Slide Saddle Ram Cross slide oY Y HIRM A TIC 88 DId dgadd oild ESIES] qed 34 FIRENIES] B 1
mounted?




11|what is the name of device? Radial cam Plate cam Barrel cam Cylindrical cam [fSg199 d Ald &1 38 degdd HH wIc A R HH RYciighd HH
5
K|
:
Pivoted Beam Milling cutter Pivot Cam X Ho Dacdl HRTA Fid S 313 fosfics e ERIETS fosiie ]
g
5
Lead screw Feed rod Carriage Stop X HIh Daicdl HRTE A9 B 3T oI ¥ s AT HIol RS
:
Cross slide Stops for the Stops for rear tool Fixed bracket |X HToh dhaicdl U HId BT 3@ HIIRC LM BR G e ¢ | T BR & R A fheRe e
front tool post post e e
15|What is the type of collet? Dead length type | Draw back type Push outtype | Master collet with [leicdl UbR HIvd 3T Se A SIEED TR 3T3¢ AR PICIC 19U TR
interchangeable ool @ AR
liners
8
g
16{How much diameter of bars can turn using capstan 60 mm 80 mm 100 mm 120 mm $HReA dY R_IRA [bdl SHTHER T 60 mm 80 mm 100 mm 120 mm

lathes?

& OIS THd




17|What is the name of tool holder? Knee turning tool Roller steady Recessing and Bar-stop and  [gd BIteR d AI1d B 3T RTHTCAa g | AR TSl e gd | RARMT 308 JI3RNT | dR WY 308 Hex
holder turning tool holder| boring tool holder | center drill tool SR TA B & g giesr
holder
18[What is the name of tool holder? Combination facing | Floating reamer | Knee turning tool | Combination tool [ BIceR d AId BT 318 PIEHRE BRI | AT RAR BleeR | M T ¢ glcey | PR g BleeR
and drilling holder holder holder holder 3{Us 3 ik Eﬁ@?
@)))))-) g
:
19|What is the name of tool holder? Knurling tool holder|  Dirill holder Multiple cutter Boring bar holder [gd 8IceR © A1d BT 318 TNl T BiceR Tod glcer HecIUd heR Blcer | SISRINT IR gl
holder
:
20|What is the name of operation? Thread cutting Knurling Forming Die thread cutting [Jeld Ucbl HTRRM d A1d B 3T IS Bl retT IR S US BT
5
21|What is the maximum diameter of thread using self | 200 mm diameter [100 mm diameter| 50 mm diameter | 30 mm diameter |[de MU S B84 SIiId SR [l 200 mm 100 mm 50 mm 30 mm
opening die heads? oS HAT dTd
22|Which geometrical form indicated in the figure? Parallelism Squareness Flatness Straightness BIGIKED THI3RAY UellcHY Icccy

TUN47L2Q22

TTelid 3HThdl 7 BIUET HITHIAD BIH
Zeifaaer 3




23|What is indicated in the given figure? Base Datum Parallelism Flatness TTelid AThdl AL DY GRIdA 316 ES) ScH URel T PG
!J % 5
- 2
24|Which one of the following frames of geometrical 7] 1 _ O Hdld Uobl HI0rdl HITATdS cleR—4 ] 1 _ O
tolerance belongs to altitude group of symbolizing WIRAG W g Tadr
characteristic of squareness?
25|What is the advantage of production lathe over The manufacturing The Initial cost is more | Not suitable for [TeR AU Y&l ISR AU BIIG B 36 | IdIG [bHI Al [hHd HHI | FedTdial [hHd S | ¢ ¥H I131 3y
center lathe? cost of manufacturing tool room work CIEEELIIE CRIRIE]
components is cost of
more component is less




